EELE TP ML S
—. il ($238IHR] . Oct. 29, 2024)
L. [41-5] FEHLAE R X #2011 R ECh

Plz) = 0, <0
1-(14+x)e ™, x>0

R X WBEEREL FHHE P(X < 1) fl P(X > 2).
2. [42-7) WHEPAE R X % B R ECh
B cx3, 0<z<1

(1) SKEH c M.
(2) K P(-1< X <0.5).
(3) 3K X MysrAek%l F(x).
3. [126-4] B R X % RECH

3,..2
_ )87 O<ar<?2

HoR E(X), ECC), B(X2)
4. [130-3) WEBHUASE X POIASEON X 103980 5. ok P(X > /VAR(XY)).

5- [48-9] # X1, X2, X3 42 3 PHNIAZ R, H X1 ~ N(0,1), X5 ~ N(0,22), X3 ~ N(0,3%),

X;<2),j=1,2,3, UE# p1 > pa > p3.
6. [46-1] iBEHLAE R X FEIXIA] (1,6) EARMIZZIG, KO €2 + Xt + 1 = 0 A SLEURAHEE.
7. [62-5.6] ¥ X MREYLAS R, A
32
A=[(0 -2 -X
1 0

(R 4R SRR g 0.5, MR )45 B v T B .
(1) X MM [0,2] FR¥5I45M

(2) X R T4 B(2,0.5);

(3) X MRAMIEZS N(0,1).

\}

o

pj =P(-2<

8. [75-12] B¢ g(v) ISR B X BUEHASES ErgARi. Ak, 2%, H Eg()] #7148, SKik: X

=0 4 Elg(2)]
g(x
P(X >¢) < rOR
BN S |

L. [41-6] iBEHLAZ R X o1 eREich

0, r<—1
F(z) =< a+barcsinz, —-1<z<1
1, z>1
(1) 24 a,b PATER) F () HIESLRE?
(2) K P(IX]<3)
(3) sk X My mEL.
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2. [126-5] BN & X 1R ECH

Xb X OB ER IR 4 0, Y FORWEERT § MREL K
(1) X M E E(X)
(2) Y AR E(Y) .

3. [130-5] ¥ X ~ N (0,07) WML K E(1X]) K& VAR(|X]).
4. [47-3] WX TFHUE M TR F M FTHESE X ~ e(1/6) (B /).

(1) BT, 3K 7 A/ P RESE B TE HL AR
(2) Fe—BRXEFHEE, CAti 3 AN, SRAETE 7 /N 72 T HUHERR.

5. [48-10] TR EHEEr IS X AR IES 2T N (50, 100) (B Az 7p4h) H 8 i EIE.
(1) SRAWBELE—/INRF P B35 T A R AL AR RS,
(2) B B 7 MWK %, AR 7 830 43, SRAt 8 RRE R TAE LA,
(3) —J 5 ATAER, At REE 7 SMNKI &, SK— I NERA BRI

6. [46-2] IFHMLAZ f X W FRR B O el N — F R RS s AR el 3] 28— (i 2 2 5 S8 REI T E] (BRAL: 235,
X 1o R ECh
0, <0
1— 6—0.4a:) x>0

ke (OPCERIHAIEL 3 4rbh); (2P(EFRIHAE A 4 4rb); (3PS 3 /B % 4 4050); (4)P (S H5H A
U 2.5 7380); (5)X BYEREL f(x) -

7. [AT-4A] WFENVE R Y IRASECH 1 8. SR P(Y <3|Y > 2).

157-5]%%&%@1’3%% X WIBERECH f(z) = Ae™™ 7, —00 < x < +oo . FIFIIERS A1 )% BE B BichE TR R 0
S8 A [l

0. [48-8] EHEHLAERE X A N(—1,16) . [SBYFRIEEA A0 BRI (1)P(X < 3); ()P(X > —3);
(3)P(X < =5); (4)P(-5 < X < 2); (5)P(|X| < 2); (6) HiE a #if5 P(X < a) = 0.95.

10. [77-5.41) BERENIAS B X IRAMES T N(n,0?), BRI o + 4y 4+ X = 0 TREREMEE R 0.5, 3K p.

3\ lﬁ%%ﬂ
LSRAEER] 0.13, BIFY X ~N(0,1), M{ER e > 0 F
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